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% �
������� �
�� ��
�	������ �
	������� ������� 
 ���=�����Y 

	 �����=�8 ������� ��	������ ���
������
-<���
��	��8 ��=
�
�
���8 
������
	. E8 ���
���
	���� �
�	
���� 	 ����������
� ������� �=������ 

���
�� ��
���=� ����
�� <����, 	
���
�YZ�� ��� ���
���
	���� �����
- 
� ������	
��
	�8 ������
�
	 ���� 	
��. 

*�
��� ��
>��8 (��=
�
�
���8) ������
	 ��
�=��
	����� 
�
 
����=����� 
������ ����
<��
��
��
� �� ����>� 50–60-8 ��. XX 	., � 	 ���� 
	��=� 
�
��Z����� �
	�=� ����=� � �
���>����=�. #���
���� ��
�
-
�	
���= ������
	����= 
������	����8 � ������>��8 ��F��8 �
����� 
�����=��������� 
��
	� ��
��� ��=
�
�
���8 ������
	. "������
� 
� 
�����	���
� 	 =��
�����

= 
��
����� ���
>���� �������8 �
�
>���� 
��
��� 	 ���� ��	�����8 =
�
������ [43–45, 60,61, 77, 81, 87, 91, 94, 99] 
�
�	
���
 �	�
��= ����
�
 �����
�
 �
�
��� �� ����=����	��� =�
��� 
	
��
��, 
��
��Z���� 
 
����
��� �����=��������8, ����
���� ��=� �
�-
	����� 	
�=
>�
��� �

��������
	��� 	��=���� �� 
�	�Z���� 	
��
�
	, 
�� 
�
�=�	��8�� 	 �������
���8 �����8, �
 �
�������8 	 �����
� 
� ���
����
�.  

% ����
�Z�= �����
= �
�
��� ����=
����
 ���=������ ���
������
-
<���
��	��8 ��=
�
�
���8 ������
	 � =���=����
� ����
��
� =
����-
���� 	 ����
��	�����
���8 �����=�8 � 
����������= ����
���= ������
=, 
����=�Z���	� 

�
��8 ��
�	��Y��� ����
��� 
��F���	
. X�
� �
�8
� 
	 �
��
� =��� ������
	�� 	 ���	� 1, ��� ������� ��
��� ����
�����
�8 
��=
�
�
���8 ������
	 � =���=����
� ����
��
� =
��������, � ��
>� �F 
=
�������
	����� 	����� �� 
��
	� ������
� 
�����
� =
�������. 
%��=���� �	�
�
	 �
����
�
���
 �� 

�������
���8 �	
���	�8 ��
�8 ���-
���
	 � ��F�
= =
������� �����=�. ! ����� �
�������8 	 ���
����
= ��-
��
�� 	
��
�
	 ������� 
������ ������
	���� 	������ 
���������
�
 ���-
�
��
�
 ������� �� �
��
��� ��=������ �����>
� ������
	 � �������
��
� 
=���=����
� ����
��
� =
��������, � ��
>� �F =
����
����=� �� 
��
	� 
������
� 
�����
� =
�������. !�
=� �
�
, ����=
����� ��
�
�� �����-
����� ������
	 ���


�
�
���8 ����
��	�����
���8 �����= ��� ���
-
������
-<���
��	��8 =��
��8 =
�������. 

% ���	� 2 ����=
����� ��
�
�� �	�
�
=�
� ���8�
������� ������-
��� 
�
���8 �������. "��
 

=��
��
� ���
>���� 	
�=
>�
� =��
�
�
-

�
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��� � ��
�
	 ������� ���
���=
	, �����
���������8 � �
�
� ������ 

=-
��
=���� =�>�� ����������
-	������������=� � 	��=����=� �������=� 
�� 
����
�
� �����=��=�8 ������
	. @��	
����� 
������� �����
>����8 
�	�
��=� ���
���=
	 ����������
�
 �
��
� � ���>���� �� �����>

� ���
-
������
-<���
��	��8 ��=
�
�
���8 ������
	 ����
��	�����
���8 ���-
��= � 	��=����= ����������=. "����� ���
���=� 
�������	�Y� �������� 
�

�������� 
�����	�, ����
�� 
 �
���������
 �
���>�=�=.  

% ���	� 3 ��
��������
	��� �
=�8
���
���	
��� ���
���=
	 �
��
� 
� ���>���� �� �����>

� ���
������
-<���
��	��8 ��=
�
�
���8 �����-
�
	 � ��F�
= 	
�=
>�
���� ���
�����

� ���������� ����=
������8 ��-
�
���=
	. 

% ���	� 4 ����=
����� ��
�
�� ���8�
������� �
�� 	��=��� 
�
�-
��8 � �
��
	�8 ������� ����=��8 ���


�
�
���8 �&� � ���
���
	���-
�= ������

	�8 �����= ��	������.  

% ����
= �����
= �
�
��� ���������� ������
	���� �	�
�
	 [2–8, 
10, 12–40, 46–48,50, 63, 64, 66–68, 78–80, 83–85, 89, 100] ���	����� 	 ��-

�8
��=
= ������� � �����=� �����
����=�. 

 
*    *    * 

 
$	�
�� 	���>�Y� ����
����
��� 

�����= �
 
������ «����
<��
-

��
���� �����=�» E�������� ��>�����
� ����
� � ����
<��
��
��
� 
������

�
 ���������
�
 ���	�������� �� �
������ ��=������ � �����
-
>����.
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% �
������� �
�� �
�������� ������������ ����8� 	 
������ ����-

��

	
� ����
��	������. %=���� � ��= ������� 
 ����=��= �����=�=        
����
��	������ �� 
�����	���. A�_�������� <�
 ��=, ��
 	 
�������
�8  
��������8 ����
������� � =
������� ����=��� �����=� 	
���
�
 �����-
����� �
��� <���
��	�� � =���� ���	�=�, ��= ������

	�� �����=�. 
#
���
� ������� 
 ����=��= ����
��	�����
���= �����=�= (�&�) �
	
-
�
 �


����� ��
�	��Y� � ���>����
�� �
���������, �=�YZ�� 
��
����� 

 ��
�����, 
���
������, ���>��= �������� � ��
��= 
������=.  

� ����Y ���������� ���
��� �
�� �&� ����=�
�
 �����
	���� ��-
�
����Y� �����
- � ������	
��
	�� ������
��, ��� 

�
��8 8���
����� 
��
���=� ����
�� <���� � ������������ �
=�8� ��8�
����
�
 ��
��8
>��-
���. @
 <�
� ������� 	 �
������� ����������� ��
�	������ �
	������� 
������� 
 ���=�����Y 	 �
�
���8 �����=�8 ���
������
-<���
��	��8 
=��
�
	 =
�������, 

���������YZ�8 ��������� 	 =���=����
 ��
�8 
���
�������8 �
��8.  

! ����� ���
�������8 	
��
�
	 �
	��=���
� ��
��� � ���
��
�  
����
��	������ 
��
����� ��
���=� 	��=���
� ���8�
������� ������� 
����=��8 �����= ��	������. A���
� ���8�
������� 	����� �� �
��
��� 
�����= ����
��	������, � 	��=� ���8�
������� 	
 =�
�
= 
��������� =
=��� 
���	
�
 
���F�� ����
��	�����
���8 ����=���
	. 

% ������ ���


�
�
���8 �����= ����
��	������ �����
��� ����-
��� �
�����
� ��
���=� ����������
 	
������Y� ��-�� ��
�8
��=
��� 
���8�
������� 

�
	�8 �
����
	������
���� 
�
��
�
 � ������
�
 ��-
=
�
�
���8 ������
	 (

�
	
� ���8�
�������).  

X���
��	�
� ������� ����� ���8�
������� ��>�� �� ���� �
������ 
��������
	����8 ��	�����
���8 �����= 

�=����

�
 � ����=�
�
 ����-
�
	����. %
�=
>�
��� 	������ ���8�
������� ����=��8 ������� �
�	�-
���� ����
���� ������
�
� <���
�
	 	��=��� � ����
�� (X%J) � 
��
��-
�����
� ����������
���Y 10–13 � 	���, ��
 �
�	
���� 
��Z���	���� ���-
8�
������Y ��������� ������
	 ����= ���	��
� 
 ����
� �
��� 	��=���. 

% ����
��	�����
���8 �����=�8 �
���
� �����
��� �����	��  
(600 
= � �
���) ����=����
�� ������
� �
������� 80 �#, ��
 ���������� 
���F= ������
	 �� �������8 ���
��� �
�� ��-�� �����	�� =
Z��8 �����=-
��8 (����
�����8) �
=�8. !����������� �
�8
� 
 ������Y �
�����
� 

�
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�
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��
���=� �	���� � �	��������= ���� ������
	, 
�������YZ�� ��
	��� 
�
��	����� ����
�����8 �
=�8 ��� 

�
	
= ���������� ������
	. A���

 
<�
 ���	
��� 
 �	�������Y 	��=��� ���8�
�������, �
��� �����������8 
� 	������������8 ������.  

@��
�����
� �
���>�=�= ��
	��= �
=�8
��Z�ZF��
��� 
 ����
-
�����= �
=�8�= 	 ��
�8 �����=�8 �	��Y��� �������� �
���
� 40 �# [34], 
��
 ������� �
�
���������8 =�� �
 �8 �
��	����Y. &���
��� �������� 
�
�8
� 
 ������Y �
�����
� ��
���=� �	���� � ���
���
	����= �	�


=-
������
�
	 �
=�8.  

E�-�� 	��


�
 ����=����

�
 ������
�� ������
	 
�>��� �� �
�-
8
�
	 	 
������
��� (�	�������� ���� ������� � 

=�������� �
=�8�) 
�� =
>�� �
��
���Y ������ ��
���=� �
	������ �
=�8
���
���	
��� 

 	���=��= �
=�8�= 	 ����=��8 ���


�
�
���8 �����=�8 ����
��	���-
��� � 

�
	�= ����������=. ������
� ������� <�
� ������ �
�	
��� ��-
Z���	���
 ��������� ���
��Y �
��, �
	����� �
��
��� � �
��
	���
��� 



�������
-	��=���
�
 
���������� �
���������� ��� �
8������� 	
�-
=
>�
��� �
	=����
� ���
�� ����=��8 � ������

	�8 ��	�����
���8 
�����=.
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	 , � � �  1 

 

��
�=�  ���2��
��  

�  ����������  
�	�����  
����������
���  ��
 

 
 
% ����
��	������ � ����
�	��� ��� �
�=��
	���� ��=
�
�
���8 

������
	 ��Z� 	���
 ���
�������� ���
	�� =���������� ����Z��
 

������� 
�	
���
� 

�
	
� �
����
	������
���Y (�� ��� BPSK). *�
�� ������� 
���
����Y���, �����=��, 	 ����
��	�����
���8 �����=�8GPS, 'GA&$��, 
GALILEO, SILEDIS [34]. A��
	�
� ������
� ���


�
 ���
���
	���� 
BPSK-������
	 	 ���


�
�
���8 �&� �	������ ����=����� ���
����� 
�
�=��
	���� � 
����
�
� ������
	. 

% �
 >� 	��=� ��	����� ��
�
�� =
�������, ����������
 ���	
�8
-
��Z�� BPSK �
 ���
������
� <���
��	�
���. &����=��, =���=������ 
����
���� =
������� (�J�) ��� MSK (minimum shift keying). 

 
 

1.1. �@$�+���A��! "����,�  
" $���$�,B��/ C�"#�#��/ $��@,%��!/ 

 
M�=
�
�
���� MSK-������� – <�
 ����
��
-=��������
	����� 

M@� � ����
�
= =
������� mf  = 0,5 � �������	�
� ���
�. "�� ����
>�-
��� �
��� ��
���= �	������ �������	����� MSK 
�
 
	��������
� �� �
 
��	��
= (OQPSK) [34]: 

� � � � � �� �
� � � � � � � �

0

c 0 0

Re exp 2

2 cos 2 sin 2 ,

s t S t j f t

P I t f t Q t f t

� � �

� 	� � 
 �� �

�
                    (1.1) 

� � � � � �c2 ,S t P I t jQ t� 
� 	� �
�                             (1.2) 

� � � �
1

0
0

N

k
k

I t c S t kT



�

� 
� , � � � �
1

0
0

,
N

k
k

Q t s S t kT



�

� 
 
 ��               (1.3) 

� �0

bcos , / 2,

0, / 2,

t t T
TS t

t T

� � � �� ��� � ��
� ��

     (1.4) 

�
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��� Pc – =
Z�
��� �������; f0 – ����Z�� (�����������) ����
�� (��������� 
���� ��	�� ���Y); � �S t�  – 

=���
���� 
����YZ��; � �I t  � � �Q t  – �����	�-
������� � =��=�� 

=�
����� �
�=��
	���
� 

=���
��
� 
����YZ��; 
� �kc  � � �ks  – ����
�����
�� ���	�
��������� �
����
	������
��� (@�@), 

����
	����� �
	�
�����= �������8 

�
	 ����� N; S0(t) – ���
���, 
�-
������YZ�� �
�=� <��=���� 
	���������8 M@�; T– ��������
��� <��-
=���� 
�>�
�
 
	��������
�
 M@� ( / 2T� � – ��������
��� ����
��
�
 
<��=����). 

X��=���� (����) �����	������
� � =��=
� 

=�
���� I(t) � Q(t) 


=���
��
� 
����YZ�� (1.2) MSK-������� �������	��Y� �
�
� �=������ 
	 	��� 
��"���
� ����
"�	, �
	�
��YZ���� � ��
�
	
� ����
�
� � 1 /f T�  
� =��������
	����� 

��=� {ck} � {sk}. @���F= 

=�
����� I(t) � Q(t) 
�������	��Y� �
�
� 	���
����
���� M@� �
 ��	��
= �� T/2: <��=���� Q(t) 
�������	�Y� �� T/2
��
�������
 <��=���
	 I(t).  

X��=���� 

�
	 {ck} � {sk} �	����� � <��=����=� ��8
��
� 

�
	
� 
@�@{dk}, 
�������YZ�� ��

� ����
��
� =����������, �

��
�����=� [60] 

2k k kd c s� ,   2 1 1k k kd c s
 
� 
 ,  ..., 1, 0, 1, ...k � 
               (1.5) 

% ������, 

��� {dk} – %-�
����
	������
��� ����� N, 

�� {ck} 
� {sk} �=�Y� ����� 2N. @���F= 

�� {ck} � {sk} �=�Y� ����
���� ����-
��YZ�8�� ���=���
	 ±c � ±s, 
����
	����8 �� 
��
= ����
�� 

�� {dk}: 
{ck} = …, c, –s, –c, s, c,… � {sk} = …, s, c, –s, –c, s, …. X�
 �	������ ������-
	��= ���������
� «���	�
	�����
���» %-�
����
	������
��� (����
 1 
� –1 
�����Y��� �� �������). % ���� ���
 ���� M@� ��������	��� ��=�-
����� �� b/2 �� �����	���, ��	�
= ����
�� �
	�
����� T� = Nd. 

��	�� ���� M@� �� b/2 �� �����	��� T� =
>�
 ���������, ���� 	�-
����� 	 
�����	� 

�
	 {ck} � {sk} ������ %-�
����
	������
��� ����� N. 
*
��� 

� {dk}, �� �	��YZ���� �>� %-�
����
	������
���Y, �=��� ����� 2N. 

E��
����� (1.2)–(1.4) � 
���	���, 
�
 ����
 ������
, ���=�� «������» 
��� 
������� 

=���
��
� 
����YZ��, =
���� ����
�����

�
 MSK-������� 
�������	�= 	 	��� 

� � � �

� � � �
1

c 0 � 0 �
0

2 ,

i
i

N

k iL k iL
i k

S t S t

P c S t kT iT js S t kT iT

�

�
�

� 



 

�
� �

� �

� 
 
 
 
 
 � 
� 	� �

�

� �

� �

   (1.6) 

��� � �iS t�  – ������ (1.2)–(1.4) �� �����	��� � �� �, 1t iT i T� 
� 	� � . E���
� � <��-
=���
	 

�
	 {ck} � {sk} 	 (1.6) 
����������� ��==��
	����= �
 =
���Y N. 
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�
���� �
�=��
	���
� ����
�����

� �	�


�������
��
� ���
-
��� (@$!�) MSK-������� 
����������� 	���>����=� [34]: 

� � � � � �

� � � � � � � � � � � � � � � �� �

�

�

*

0

� 0

1f f
2

1 f f f f

T

T

R S t S t dt
E

I t I t Q t Q t j Q t I t I t Q t dt
T

� 
 �

� 
 
 
 
 
 
 
 �� 	� �

�

�

�

 

1 1( 2) sin cos ( ) sin (1 )cosa aR m x x x R m x x x� � � 	� 
 
 � 
 � 
 � 
 
 � 
� � �  � �� � � �
 

� � � �1 1 1 11 cos sin 1 cos sin ,
2 2a aj R m x x x R m x x x

� !� 	 � 	� � � �
 
 � 
 
 � 
 
 � 
 
 �� "� � � ��  �  � �� � � �� � � �� #
    

(1.7) 

��� f g, ... 1, 0,1, ..., 0 g < ,m m� � 
 � 
 � � x
T
$

� . 

X������ ������� � �s t  (1.1) �� ����
� T� 
����������� 	���>����= 

� �
� 2

c �
0

1
2

T

E S t dt PT� �� � ; 

� �
1

0

1 N

a k k m
k

R m a a
N






�

� �                                        (1.8) 

�
�=��
	����� @$!� 

�
	
� �
����
	������
��� {ak} = {ak: k = ..., –1,  
0, 1, ...}, <��=���� 

�
�
� �	����� � <��=����=� 

�
	�8 �
����
	�����-
�
���� {ck} � {sk} �

��
�����= [61]: 

1

( 1) , 2 ,

( 1) , 2 1.

i
i

k i
i

c k i
a

s k i


� 
 ��� �

 � 
��

                                    (1.9) 

%��8��� ����
� 	 	��� �	F��
�
� ��
���������� 	 (1.7) ��� 
�
���-
����� 

=���
��
�
 �
���>����. 

% �����
= ������ ��� 	��=����8 ��	��
	 m% � � ( 0)$ � �� (1.7) ���-
���� 

� � & '1( ) ( 1) ( 1) .
ba a aR m R m j R m R m� � 
 
 
 
                 (1.10) 
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@�� 0,1, 2m �  �� (1.10) ��8
��= (0) 1R � , � � � � � � 11 2 1a a
jR R R� � 
 
 (� 	� �� �

 

� � � � � � � � �2 2 3 1 0a a a
jR R R R� � 
 
 (� 	� ��

. +���� �����
, ��
 ��� 1N ��  ���-

����� �


	�8 ������

	 �
�=��
	���
� @$!� ( ) 1aR m )) . 
@�� 1N ��  �
�=� 
��
	�
�
 ������
� @$!� ( 2m � ) 
����������� 

�
�=��
�  

� �
f b 1 b1 cos f sin f , f ,

bf
0, f .

T
T T TR

T

�� � � � � �
 
 ��� � � � � �� � � � ��� �
� ��

               (1.11) 

��
 �
	������ � 	���>����= ��� =
���� �	�


�������
��
� ���
��� 
($!�) <��=���� M@� (1.4). 

@�� ���
���
	���� 

�
	 {ak} � ��
	��= �


	�8 ������

	 @$!� 
� � 1/aR m N� 
  ��� 	��8 m j 0 (%-�
����
	������
���) ��
	��� �


	�8 

������

	 @$!� ( 2)m �  (�
�=��� (1.7)) ��	��  

� � 1 ,R
N

% �                                             (1.12) 

��
 �
	������ �
 ��������= �


	�8 ������

	 =
���� @$!� 

�
	
� �
-
����
	������
���. 

@���� 

� {dk} – �
����
	������
��� �	�	�� ����
� N = 16 383,          
�
���, ���
����� �
�=��� (1.7), =
>�
 �
���
��� �����
� (���. 1.1) =
���� 
�
�=��
	���
� ����
�����

� �	�


�������
��
� ���
���. 

!�
 ��	����
 [60], ����
�����
�� %-�
����
	������
��� �	��Y��� 

���=�����=� �	
����=� 

�
	�=� �
����
	������
���=�, ��
 
�
 �=�Y� 
=���=������ ��
	��� �


	�8 ������

	 @$!� � � 1/R m N� 
 . 

+������� 1/N 8���
�������� � ��
	��� �


	�8 ������

	 =
���� 
@$!� MSK-������
	, ��
�=��
	����8 �� 
��
	� %-�
����
	������
����. 
�
�=� 
��
	�
�
 ������
� =
���� �
�=��
	���
� @$!� (��� T% � ) 
���
�����
� �� ��	���� 
� ����� ���	�
�������
� �
����
	������
��� 
� 
����������� 	���>����= (1.11).  

X����������
�� ���
�� MSK-������� 
����������� 	���>����= [70] 
2

��
2 2

�

�

bcos
8( )

21

f
fPG f

f f
f

� �
� �
� ��

� � �

 � �
� �

.                                    (1.13) 
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���
�������� <���
��	�
��� ��=
�
�
���8 MSK-������
	 8���
-
���������� ��������=� �
�=��
	���
� ������ ���
��� c �/F f  ��� MSK  
� QPSK-������
	 ( cF  – 
��
��
�
���� ������ ���
���) (����. 1.1). @

�-
������ ���
	��
���� ���
��� l ��	�� 
��
����Y =
Z�
��� � �c cP F                
	 �
�
�� cF  
 �
��
� =
Z�
��� �P  �������. @�� l = 0,99 ������ ���
��� 
MSK-������� �
��� 	 10 ��� =�����, ��= QPSK-������� (��� ��	�
� ��
�
	
� 
����
�� � 1 /f T� ) � �
���	���� �

�	����	���
 1 1,18c &F f(  � 2 10,29c &F f( .  

 

 
	 

 
' 

���. 1.1. '����
� =
���� �
�=��
	���
� @$!�: a – ��� 
��
	�
�
 ������
� @$!�;  
' – ��� �


	�8 ������

	 @$!� (	 ��������8) 

 
����=������ ����
���� =
������� 	 ���	����� � QPSK �
�	
���� 

����������
 �=������� ��
	��� 	���
�
��
� =
Z�
���. ��
	��� ���	
�
 
�


	
�
 ������
� �
���	�� 


�
 –23 �# ��
��	 –13 �#; ������ 
��
	�
�
 
������
� ���
��� ��� MSK ��	�� 3,0f�, � ��� QPSK – 2f�; =
Z�
��� 	 
��
	�
= 
������
� ���
��� �
���	���� 99,9 % � 92 % ��� MSK � QPSK �

�	����-
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	���
. ��
	��� �


	�8 ������

	 ���
��� ��� MSK ���	��� ��
�
���
-
�����
 f–4, 	 �
 	��=� 
�
 ��� QPSK – ��
�
���
�����
 f–2. 

 
*������ 1.1 

%�� =
������� 
M@� 

Fc/f� 
l = 0,9 l = 0,99 l = 0,999 

QPSK 0,85 10,29 98,24 
MSK 0,78 1,18 2,74 
GMSK(BT=0,25) 0,57 0,86 1,09 
SMSK 0,87 1,41 2,57 

 
(	"������	� MSK (GMSK) � ���=
�����
�� MSK (SMSK) �=�Y� �
��� 

	��

�Y ���
�������Y <���
��	�
���, ��= MSK. A���

 �
��������� <�
 
���
� �
���� �
=�8
���
���	
���, � ��
>� ���
>����� ���������� �
�-
=��
	���� � 
����
�
� ������
	. 

 
 
1.2. �@$�+���A��! "����,� " $���D���'������/ 

$���$�,B��/ C�"#�#��/ $��@,%��!/ 
 
���	���� ��
������8 ��	�����
���8 ������

	�8 �����= ('&��) 

'GA&$�� � GPS, ���	F���	���� �
	�8 '&�� (Galileo, Compas � ��.) 
�-
�
	��
 �� ���
���
	���� �
	�8 ��	�����
���8 ������
	, 	 �����
��� 
������
	 � =
�������� BOC (binary offset carrier) � ��������8 �F 	����� 
(AltBoc, DuoBoc, MixBoc).  

%��

�� 
�����	����� �

������� '&�� � ����=��8 ���


�
�
�-
��8 �����= 
�������Y���, ���>�� 	���
, ���

�= ���
��
= ���
�����=�8 
������
	. @
�
�� ����
�, 	��������� �Y�
� �����=�, 	����� 
���������. 
@
<�
=� �
�
���	����� 8���
�������
 �
	�8 ��	�����
���8 ������
	 
�
�>�
 ��
	
������ ��� ��
���
	���
= ����
��
= �������. 

@�����
��	��= ��
�
�
= =
������� ������
	 	 ���


�
�
���8 
����
��	�����
���8 �����=�8 �	������ �������� 
������� =
������� 
(BOC). #���
���� ���


=� ���
��� ���
�����=�8 ������
	, 

�
��� 
������
 ����	��� ��	
������� )"��
���'
��� ���
	�	��, ���               
BOC-�������=� [102], 
�������	�Y��� 	��

�� ��
�����
�� �

������� 
�����=. X�
 ���>�� 	���
 �
��
��� ��=������ 

�
	
� �����>
� � ���
�-
��	
��� 
 �
=�8�= =�
�
���F	
���. 

*�
�� ������� ������
 
�
������� 
�
 BOC (m, n), ��� m � n – ����� 
�����, 
�����YZ�� 
����
��� ����
�� =�����
	
� �
����
	������
��� 
� ��
�
	
� ����
�� �����
=���
�
 

�� ��

�
�
� 
�
��
� ����
��:

= 
�/m f f� , � 
�/n f f� . 




